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OBJECT ORIENTED PROGRAMMING THROUGH C++

fautfa a9 : fi7 92 (SAftrehaw 37 : 70
Time allowed : Three Hours] [Maximum Marks : 70
A () FuE Iy a8, 99 7 G - IR F IR A7 |

Note : Question No. 1 is compulsory, answer any FOUR questions from the remaining.

(i) §ed% Fo4 & GH1 9T 1 FHAR T G1Y & Hiford |
Solve all parts of a question consecutively together.
(iii) FcA% 77 F1 79 98 8 IR Hild |
Start each question on fresh page.

(iv) @l TTaI 31 817 &) Rt 7 3 sga & T 8 |

Only English version is valid in case of difference in both the languages.

1. () Trafefas d @ fem smumon 1 3ef R o1 b i U e S ?

(a) UTRFH (b) TG

(c) FefeE (d) uichmiEs

Which of the following concept means wrapping up of data and function
together ?

(a) Abstraction (b) Encapsulation

(¢) Inheritance (d) Polymorphism

() frafafiaa § @ fea smuron &1 39 wersy o g8 fuifa s 2 i fea sem =0

HicA HEATR ?

(a) ST EEfEN (b) STEATH HIET

(c) ST SgfeT (d) SIS s

Which of the following concepts means until runtime to determine which
function to call ?

(a) Data hiding (b) Dynamic casting

(¢) Dynamic binding (d) Dynamic loading

(10f 8) P.T.O.
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() o e = Naere T8 foman 511 gehar ?
Which operator can not be overloaded ?
(@ + ® - (c) = (d)

@) Frafafaa som %1 33ege F= BT =TTRY, ?
What should be the output of below program ?
int main ()

{

int a=10;
cout<<a++;
return 0;

}
(@ 11 (b) 10
(c) Error @ o

(5) W@ H SrsE 1 SHN TR 7
What is size of void in bytes ?
(@ 1 b 2
(c) 4 @d 0

(6) TmFwEgH>> FTRE HEATT B

(a) IO ARA (b) TEEHH
(¢ Use e afate d) = frw s
With respective to streams >> (operator) is called as

(a) Insertion operator (b) Extraction operator
(¢) Right shift operator (d) Left shift operator

(7 Srfrfid 1 § T T THT 1 HLIA TG 8 7
(a) Ul P (b) The HAFA
(c) Tewice Hgaet (d) Yudietsss HEFX
Which of the following is not a type of constructor ?

(a) Copy constructor (b) Friend constructor
(c) Default constructor (d) Parameterized constructor
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8) Frafefea 4 Fo@ FTETETE 8 7

(a) wfew wam (b) TS HRA

(c) I BRHA (d) T3 HEH

Which of the following is not the member of class ?

(a) Static function (b) Friend function

(¢) Const function (d) Virtual function

cout % Tsh

(a) JARA (b) M

(c) Alssiare d) Wi

cout is a/an

(a) Operator (b) Function

(c) Object (d) Macro

(10)

C++ g1 e TP 3 Sgedarail o1 ane foran St 2 7
How many types of polymorphism are supported by C++ ?
(@ 1 (b) 2

) 3 (d 4

(1) T8 1 I8 R S &aa: € Hiet & il 8 5 JAesae fue g @

(a) HEFL (b) SEIFX
(€) e HEH (d) TR HEE

Class function which is called automatically as soon as the object is created is
called as

(a) Constructor (b) Destructor

(¢) Friend function (d) Inline function

(12) Fret & @ N w1 SRR H1 TSR TE 8 7

() #eduH (b) Hedieiad
) Te=i=gRs (d) Erfhsd
Which of the following is not a type of inheritance ?
(a) Multiple {b) Multilevel
(¢) Distributive (d) Hierarchical

P.T.O.
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(13) e § & 1 ) T TR 3 Hd R 7

(a) main() % et e § Arfieier TE &l

(b) U HEH Bl Hict HLd GHT FHLT

© wsRiewmIk

(d) THE-TEAIR

Which of the following problem causes an exception ?
(a) Missing semicolon in statement in main( ).

(b) A problem in calling function.

(c) A syntax error.
(d) A run-time error.

(14) ﬁmﬁ%mmﬁmﬁmisqﬁaémmﬁwaﬁqwmaﬂ% ?

Which of the following ways are legal to access a class data member using this
pointer ?

(a) this->x (b) thisx

(c) ‘*thisx (d) *this—x

(15) e 1 B A T HY T SRE S e H AR R 7

(a) o€ TARFYH i wiiE TG L |

(b) TE TR i ofig FH FWI 2 |

(c) I8 HISHTEH Sewl & |

@ (2) T () S

Which of the following statement regarding inline functions is correct ?
(a) It speeds up execution.

(b) It slows down execution.

(c) It increases the code size.
(d) Both (a) and (c)

(16) Fr= § @ B 1 Hias Th AR H1 HTAIS FE F FH HE@TR ?

(a) JAETEE (b) IR

(c) %S (d) 3MaEE

Which of the following keyword is used to overload an operator ?
(a) overload (b) operator

(¢) friend (d) override
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H13 & ol o § 3TRREE 1 B |1 YR IR H forn T R 7
class A : public X, public Y
U
(a) HodioEd STERH (b) Tedud HRREH
(c) wrfsie Fefem (d) Hrerhe FRRes
Which inheritance type is used in the class given below ?
class A : public X, public Y

{}
(a) Multilevel inheritance (b) Multiple inheritance
(c¢) Hybrid inheritance (d) Hierarchical inheritance

(18) U FATE F SRR w0 g e A @ A T o oy il dee 2

(a) dieAs (b) Wi

(c) TWRwRE (d) s

Which of the following is an invalid visibility label while inheritance a class ?
(a) public (b) private

(c) protected (d) friend

(19) = 8 @ @1 AT w9 2 2

(20)

(a) e e FATH $ UfeeTs T2 Had @i TeHd HEHd © |

(b) Sz GaeH T H WIeads T Had I UaHE FEHA § |

() TS G AT ¥ WISHE oIl Had I G FEHA R |

(d) ITH T

Which one of the following options is correct ?

(a) Friend function can access public data members of the class.
(b) Friend function can access protected data members of the class.

(c) Friend function can access private data members of the class.
(d) All of the above

e 1 & B e SYeed STl 8 ?

(a) USEHH (b) wEReE

(c) SwFTIHe SRS (d) THYRH
Which of the following provides a reuse mechanism ?
(a) Abstraction (b) Inheritance
(c¢) Dynamic binding (d) Encapsulation

P.T.O.
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Q1) FraddsRE A ad e ?

(22)

(23)

()

(25)

(26)

(a) FATE oo T FLE B2 |
(b) AT FolTd 1 3LH BT 8 |
(c) AT SI21 139 1 ST BT ¢ |
(d) TeSiae STET 213U HI FRH BT € |

Which of the following statement is correct ?
(a) Class is an instance of object.

(b) Object is an instance of a class.

(¢) Class is an instance of data type.

(d) Object is an instance of data type.

£ § @ i o1 Ays Fefi § BIse I A9 H 5 HM A8 7
(a) Open() <! M H Tt (b) HALFAAIS

(c) SHZRAAUS (d) (a) @ (b) S

Which of the following methods can be used to open a file in file handling ?
(a) Using Open() (b) Constructor method

(¢) Destructor method (d) Both (a)and (b)

gt Uiset 1 qer 3 fore fret 1 & Tenareet 3w i e S @ 7

Which of the following is not used to seek a file pointer ?

(a) ios:cur (b) 1os::beg

(c) ios:end (d) 1ios::set

etz @i feaien frarstran & 2

How to declare a template ?

(a) tem (b) temp

(c¢) template <> (d) none of the mentioned
C++ 1 Tope Jeh I & S 81 & ?

How many types of templates are there in C++ ?

(@ 1 (b) 2

© 3 d 4

C++ 1 frm § @ =t ot iwon g 99310 o & fag adi 2 2
Which is the correct declaration of pure virtual function in C++?
(a) wvirtual void func = 0; (b) virtual void func() = 0;
(¢c) virtual void func() {0}; (d) void func() =0;
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27 aﬁm@am%mﬁ@mﬁaﬁmﬂ%@ma@%,ﬁmﬁmCH

g 1 3T HT ?
(a) e SEETeT (b) TR
(c) SaH JARATST @ e

If you want to write multiple functions in a class with same name, then what
C++ feature will you use ?

(a) Function overriding (b) Encapsulation
(c) Function overloading (d) None

(28) gﬁaﬁwmmﬁﬁm&ammmwﬁm ?

What will be the order of execution of base class constructors in the following

method of inheritance ?
class A : public B, public C {.....}
(a) BQ: CO; AO; (o) CO; BO: AO:
()  AQ:;BO; CO; (d BO; AO; CO;
(29) S m 3 n int SHT H ARCE § 9 m=5 L n=2 3 A m% n 31 GROTH FT
& ?
(@ O ®b) 1
© 2 (d) THADETE

If m and n are int type variables, what will be the result of the expression m% n
whenm=5andn=27

(@ O by 1
) 2 (d) None of the above

(30) F=Hd C++ 1 @ i yorreh 39w 2 8 7

(a) FWIHAE (b TRAIH

() T () =AY

Which of the following approach is adapted by C++?

(a) Top-down (b) Bottom-up

(c) Right-left (d) Left-right (1x30)

2. () cwmmﬁﬁ;ﬁaﬁi\waﬁaﬁamaﬁrm |
Explain different features of C++ language.
(i) THH10TH 7T 1 A ST HE &g s fod |
Write a program o calculate sum of 1 to 10 numbers. (54
P.T.O.
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3. (i) e % O @ S 6 TERar d FeeEt |
Explain array of objects with the help of a program.
(i) A ST i IgTE0T Higd GHHATT |
Explain function overloading with example.
4. (i) IRReE S vl % dfee | vl Hif |
Describe types of inheritance in brief.
(i) Vhe B I IR Higd THHATST |
Explain friend function with example.
5. (i) UHRWHEEIE ? YR 3 i i Tmensy |
What is exception ? Explain throwing and catching.
(i) ST SNaTafen = & 7 gt shawaten  fam fefan |
What is operator overloading ? Write the rules for operator overloading
6. (i) T3 function ! IETEY Afgd FHHATST |
Explain virtual function with example.
(i) e T <R wTew & Fran T8 T8 3 A & ferw C++ H v fefa |
Write a program in C++ to find out that the given number is prime or not ?
7. () BIHeS B YL HILYE AT ! FHHTEY |
Explain formatted console input output operations.
(i) TS B I TR Aigd THSIT |
Explain inline function with example.
8. (i) C++ &M aeiad &l g9smsy |
Explain C++ stream classes.
(i) put() 3N get() A Pl IGTET Higd FHATT |
Explain put() and get() function with example.
9. o= w afyg feoafirat fafew -
Write short notes on following :
(i) I3 HIS
File mode
(i) TS o™
Abstract class
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